
ICC - Casegoods - Torrington Furniture

Parts Catalog Issued: Dec 29, 2016



The information contained in this document is subject to change without notice.  This catalog contains
service parts for Form No. 12-419.  If you have any questions regarding this catalog, please contact one
of our Customer Service Representatives.

For Customer Service and Technical Support Call:
1-800-668-2337

For Literature Requests, Call:
1-800-668-2337 or go to our website:

www.invacare-cc.com

SYMBOL DEFINITION
Throughout this catalog you will notice letters to draw your attention to specific footnotes which are located at the
bottom of the page or below specified charts.

HARDWARE MEASUREMENTS

Examples:
=     Special Comments
=     General information pertaining to that specific page
=     No Longer Available

NOTE:
NLA

The measurements for the hardware will be listed as follows:
Screws, Bolts
Washers
Spacers

For your convenience, we have supplied an area for you to list your Invacare Representatives.

A,B,C etc.

Diameter X Thread Count/Pitch X Length
Inside Diameter X Outside Diameter X Thickness
Inside Diameter X Outside Diameter X Length

Name Phone Numbers

© 2016 Invacare Corporation. All rights reserved. Republication, duplication or modification in whole or in part is prohibited without prior written permission
from Invacare. Trademarks are identified by ™ and ®. All trademarks are owned by or licensed to Invacare Corporation or its subsidiaries unless otherwise

noted.

Parts Catalog Usage Guide

1
Form No. 12-419 For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.com



01. Product Line ....................................................................................................................... 3

02. Doors - Bedside and Wardrobe - Torrington ...................................................................... 4

03. Doors - Bedside and Wardrobe - Torrington II ................................................................... 6

05. Drawers - Bedside, Chest, Wardrobe, Armoire - Torrington .............................................. 8

06. Drawers - Bedside, Chest, Wardrobe, Armoire - Torrington II ........................................... 10

08. Door and Drawer Pulls - Torrington .................................................................................... 12

10. Toe Panels - Torrington/Torrington II ................................................................................. 21

11. Top Panels - Torrington/Torrington II ................................................................................. 24

12. Valances - Torrington/Torrington II ..................................................................................... 26

13. Accessories - Miscellaneous .............................................................................................. 28

TABLE of CONTENTS
Description Page

Number

2
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Torrington Product Line

3
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Doors - Bedside and Wardrobe - Torrington

4
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Doors - Bedside and Wardrobe - Torrington
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
A024365 Kit, Door Panel w/ Hardware - Left (28470) 1 11 A

Door Panel Assembly - Left (28470) 1 16
Hinge Plate, Salice 1 47
Screw, Phillips Pan Head (#8 x 5/8") 1 88
Pad, Felt 1 39

A024366 Kit, Door Panel w/ Hardware - Right (28470) 1 11 A
Door Panel Assembly - Right (28470) 1 16
Hinge Plate, Salice 1 47
Screw, Phillips Pan Head (#8 x 5/8") 1 88
Pad, Felt 1 39

A024367 Kit, Door Panel w/ Hardware - Left (28470-2) 1 12 A
Door Panel Assembly - Left (28470-2) 1 16
Hinge Plate, Salice 1 37
Screw, Phillips Pan Head (#8 x 5/8") 1 68
Pad, Felt 1 39

A024368 Kit, Door Panel w/ Hardware - Right (28470-2) 1 12 A
Door Panel Assembly - Right (28470-2) 1 16
Hinge Plate, Salice 1 37
Screw, Phillips Pan Head (#8 x 5/8") 1 68
Pad, Felt 1 39

A024370 Kit, Door Panel w/ Hardware, Double (28472-2) 1 13 A
Door Panel Assembly - Right (28472-2) 1 16
Door Panel Assembly - Left (28472-2) 1 16
Hinge Plate, Salice 1 67
Screw, Phillips Pan Head (#8 x 5/8") 1 128
Pad, Felt 1 49

A024369 Kit, Door Panel w/ Hardware, Double (28472) 1 14 A
Door Panel Assembly - Left (28472) 1 16
Door Panel Assembly - Right (28472) 1 16
Hinge Plate, Salice 1 87
Screw, Phillips Pan Head (#8 x 5/8") 1 168
Pad, Felt 1 69

A024658 Kit, Door Panel w/ Hardware - Left (28430) 1 15 A
Door Panel Assembly - Left (28430) 1 16
Hinge Plate, Salice 1 27
Screw, Phillips Pan Head (#8 x 5/8") 1 48
Pad, Felt 1 29

A024659 Kit, Door Panel w/ Hardware - Right (28430) 1 15 A
Door Panel Assembly - Right (28430) 1 16
Hinge Plate, Salice 1 27
Screw, Phillips Pan Head (#8 x 5/8") 1 48
Pad, Felt 1 29

A - Includes items 6, 7, 8, and 9. NOTE:
 

5
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Doors - Bedside and Wardrobe - Torrington II

6
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Doors - Bedside and Wardrobe - Torrington II
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
1121801 Kit, Door Panel w/ Hardware - Left (48470) 1 11 A

Door Panel Assembly (48470) 1 16
Hinge Plate, Salice 1 47
Screw, Phillips Pan Head (#8 x 5/8") 1 88
Pad, Felt 1 39

1121806 Kit, Door Panel w/ Hardware - Right (48470) 1 11 A
Door Panel Assembly - Right (48470) 1 16
Hinge Plate, Salice 1 47
Screw, Phillips Pan Head (#8 x 5/8") 1 88
Pad, Felt 1 39

1121831 Kit, Door Panel w/ Hardware, Double (48472-2) 1 12 A
Door Panel Assembly - Left (48472-2) 1 16
Door Panel Assembly - Right (48472-2) 1 16
Hinge Plate, Salice 1 67
Screw, Phillips Pan Head (#8 x 5/8") 1 128
Pad, Felt 1 49

1121810 Kit, Door Panel w/ Hardware - Right (48470-2) 1 13 A
Door Panel Assembly - Right (48470-2) 1 16
Hinge Plate, Salice 1 37
Screw, Phillips Pan Head (#8 x 5/8") 1 68
Pad, Felt 1 39

1121815 Kit, Door Panel w/ Hardware - Left (48470-2) 1 13 A
Door Panel Assembly - Left (48470-2) 1 16
Hinge Plate, Salice 1 37
Screw, Phillips Pan Head (#8 x 5/8") 1 68
Pad, Felt 1 39

1121823 Kit, Door Panel w/ Hardware, Double (48472) 1 14 A
Door Panel Assembly - Left (48472) 1 16
Door Panel Assembly - Right (48472) 1 16
Hinge Plate, Salice 1 87
Screw, Phillips Pan Head (#8 x 5/8") 1 168
Pad, Felt 1 69

1121778 Kit, Door Panel w/ Hardware - Left (48430) 1 15 A
Door Panel Assembly - Left (48430) 1 16
Hinge Plate, Salice 1 27
Screw, Phillips Pan Head (#8 x 5/8") 1 48
Pad, Felt 1 29

1121783 Kit, Door Panel w/ Hardware - Right (48430) 1 15 A
Door Panel Assembly - Right (48430) 1 16
Hinge Plate, Salice 1 27
Screw, Phillips Pan Head (#8 x 5/8") 1 48
Pad, Felt 1 29

A - Includes items 6, 7, 8, and 9. NOTE:
 

7
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Drawers - Bedside, Chest, Wardrobe, Armoire
Torrington

8
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Drawers - Bedside, Chest, Wardrobe, Armoire
Torrington

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1165688 Drawer Assembly, Complete (19-1/8") 1 11 A
Drawer Front Assembly (19-1/8") 1 14
Drawer Assembly (19-1/8") 1 15
Screw, Phillips Flat Head (#6 x 1") 1 46

1165689 Drawer Assembly, Complete (28") 1 12 A
Drawer Front Assembly (28") 1 14
Drawer Assembly (28") 1 15
Screw, Phillips Flat Head (#6 x 1") 1 66

1165690 Drawer Assembly, Complete (30") 1 13 A
Drawer Front Assembly (30") 1 14
Drawer Assembly, Complete (30") 1 15
Screw, Phillips Flat Head (#6 x 1") 1 66

A - Part includes items 4, 5, and 6. NOTE:
 

Furniture Style Number of Drawers Part Number
1165688Bedside, Single DrawerIH28430
1165688Three Drawer CabinetIH28434
1165689Three Drawer Wide CabinetIH28436
1165689Four Drawer Wide CabinetIH28438
1165688Six Drawer CabinetIH28443
1165688Two Drawer WardrobeIH28470-2
1165690Two Drawer, Two Door WardrobeIH28472-2
1165689Armoire, Three DrawersIH28490

9
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Drawers - Bedside, Chest, Wardrobe, Armoire
Torrington II

10
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Drawers - Bedside, Chest, Wardrobe, Armoire
Torrington II

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1168314 Drawer Assembly (19-1/8") 1 11 A
Drawer Assembly Front 1 14
Drawer Assembly (19-1/8") 1 15
Screw, Phillips Flat Head (#6 x 1") 1 46

1168315 Drawer Assembly (28") 1 12 A
Drawer Assembly Front 1 14
Drawer Assembly (28") 1 15
Screw, Phillips Flat Head (#6 x 1") 1 66

1168316 Drawer Assembly (30") 1 13 A
Drawer Assembly, Front 1 14
Drawer Assembly, Complete (30") 1 15
Screw, Phillips Flat Head (#6 x 1") 1 66

A - Part includes items 4, 5, and 6. NOTE:
 

Furniture Style Number of Drawers Part Number
1168314Bedside, Single DrawerIH48430
1168314Three Drawer CabinetIH48434
1168315Three Drawer Wide CabinetIH48436
1168315Four Drawer Wide CabinetIH48438
1168314Six Drawer CabinetIH48443
1168314Two Drawer WardrobeIH48470-2
1168316Two Drawer, Two Door WardrobeIH48472-2
1168315Armoire, Three DrawersIH48490

11
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Door and Drawer Pulls - Torrington
NOTE: All pull handles include Screws.

12
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Door and Drawer Pulls - Torrington
NOTE: All pull handles include Screws.

IH46 Series - Door and Drawer Pulls
Furniture

Style QuantityIH46-B Quantity IH46-N Quantity IH46-O

111458371114583611145835IH28430
IH48430

111458401114583911145838IH28430
IH48430

311458403114583931145838IH28434
IH48434

611458406114583961145838IH28436
IH48436

811458408114583981145838IH28438
IH48438

611458406114583961145838IH28443
IH48443

111458371114583611145835IH28470
IH48470

111458371114583611145835IH28470-2
IH48470-2

211458402114583921145838IH28470-2
IH48470-2

211458372114583621145835IH28472
IH48472

211458372114583621145835IH28472-2
IH48472-2

411458404114583941145838IH28472-2
IH48472-2

611458406114583961145838IH28490
IH48490

13
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Door and Drawer Pulls - Torrington
NOTE: All pull handles include Screws.

IH88 - Series Door and Drawer Pulls
Furniture

Style QuantityIH88-B Quantity IH88-N Quantity IH88-O

111458491114584811145847IH28430
IH48430

111458521114585111145850IH28430
IH48430

311458523114585131145850IH28434
IH48434

611458526114585161145850IH28436
IH48436

811458528114585181145850IH28438
IH48438

611458526114585161145850IH28443
IH48443

111458491114584811145847IH28470
IH48470

111458491114584811145847IH28470-2
IH48470-2

211458522114585121145850IH28470-2
IH48470-2

211458492114584821145847IH28472
IH48472

211458492114584821145847IH28472-2
IH48472-2

411458524114585141145850IH28472-2
IH48472-2

611458526114585161145850IH28490
IH48490

14
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Door and Drawer Pulls - Torrington
NOTE: All pull handles include Screws.

IH88D Series - Door and Drawer Pulls
Furniture

Style QuantityIH88D-B Quantity IH88D-N Quantity IH88D-O

111458491114584811145847IH28430
IH48430

111458581114585711145856IH28430
IH48430

311458583114585731145856IH28434
IH48434

611458586114585761145856IH28436
IH48436

811458588114585781145856IH28438
IH48438

611458586114585761145856IH28443
IH48443

111458491114584811145847IH28470
IH48470

111458491114584811145847IH28470-2
IH48470-2

211458582114585121145856IH28470-2
IH48470-2

211458492114584821145847IH28472
IH48472

211458492114584821145847IH28472-2
IH48472-2

411458584114585741145856IH28472-2
IH48472-2

611458586114585761145856IH28490
IH48490

15
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Door and Drawer Pulls - Torrington
NOTE: All pull handles include Screws.

IHCH-PB/PN Series - Door and Drawer Pulls
Furniture

Style IHCH-PB Quantity IHCH-PN Quantity

1114586311145862IH28430
IH48430

1114586511145864IH28430
IH48430

3114586531145864IH28434
IH48434

6114586561145864IH28436
IH48436

8114586581145864IH28438
IH48438

6114586561145864IH28443
IH48443

1114586311145862IH28470
IH48470

1114586311145862IH28470-2
IH48470-2

2114586521145864IH28470-2
IH48470-2

2114586321145862IH28472
IH48472

2114586321145862IH28472-2
IH48472-2

4114586541145864IH28472-2
IH48472-2

6114586561145864IH28490
IH48490

16
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Door and Drawer Pulls - Torrington
NOTE: All pull handles include Screws.

IH37-AB Series - Door and Drawer Pulls
Furniture

Style IH98-AB Quantity

1A024712IH28430
IH48430

1A024706IH28430
IH48430

3A024706IH28430
IH48430

6A024706IH28436
IH48436

8A024706IH28436
IH48436

6A024706IH28443
IH48443

1A024712IH28470
IH48470

1A024712IH28470-2
IH48470-2

2A024706IH28470-2
IH48470-2

2A024712IH28472
IH48472

2A024712IH28472-2
IH48472-2

4A024706IH28472-2
IH48472-2

6A024706IH28490
IH48490

17
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Door and Drawer Pulls - Torrington
NOTE: All pull handles include Screws.

IH98-AB Series - Door and Drawer Pulls
Furniture

Style IH98-AB Quantity

1A024712IH28430
IH48430

11133120IH28430
IH48430

31133120IH28434
IH48434

61133120IH28436
IH48436

81133120IH28438
IH48438

61133120IH28443
IH48443

1A024712IH28470
IH48470

1A024712IH28470-2
IH48470-2

21133120IH28470-2
IH48470-2

2A024712IH28472
IH48472

2A024712IH28472-2
IH48472-2

41133120IH28472-2
IH48472-2

61133120IH28490
IH48490

18
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Door and Drawer Pulls - Torrington
NOTE: All pull handles include Screws.

IH30-WB/IH30-BC Series - Door and Drawer Pulls
Furniture

Style IH30-BC Quantity IH30-WB Quantity

1112816311128166IH28430
IH48430

1112816411128167IH28430
IH48430

3112816431128167IH28434
IH48434

6112816461128167IH28436
IH48436

8112816481128167IH28438
IH48438

6112816461128167IH28443
IH48443

1112816311128166IH28470
IH48470

1112816311128166IH28470-2
IH48470-2

2112816421128167IH28470-2
IH48470-2

2112816321128166IH28472
IH48472

2112816321128166IH28472-2
IH48472-2

4112816441128167IH28472-2
IH48472-2

6112816461128167IH28490
IH48490

19
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Door and Drawer Pulls - Torrington
NOTE: All pull handles include Screws.

IH62-BC Series - Door and Drawer Pulls
Furniture

Style IH62-BC Quantity

11145844IH28430
IH48430

11145845IH28430
IH48430

31145845IH28434
IH48434

61145845IH28436
IH48436

81145845IH28438
IH48438

61145845IH28443
IH48443

11145844IH28470
IH48470

11145844IH28470-2
IH48470-2

21145845IH28470-2
IH48470-2

21145844IH28472
IH48472

21145844IH28472-2
IH48472-2

41145845IH28472-2
IH48472-2

61145845IH28490
IH48490

20
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Toe Panels - Torrington/Torrington II
Scalloped, Arched, and Flush

21
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Toe Panels - Torrington/Torrington II
Scalloped, Arched, and Flush

#1 Scalloped Toe Kicks

Furniture Style Part Number Furniture Style Part Number
1166995IH28470

IH484701167033IH28430
IH48430

1166995IH28470-2
IH48470-21167019IH28434

IH48434
1167755IH28472

IH484721167712IH28436
IH48436

1167755IH28472-2
IH48472-21167712IH28438

IH48438
1168275IH28490

IH484901167019IH28443
IH48443

#1 Arched Toe Kicks

Furniture Style Part Number Furniture Style Part Number
1166997IH28470

IH484701167035IH28430
IH48430

1166997IH28470-2
IH48470-21167021IH28434

IH48434
1167753IH28472

IH484721167714IH28436
IH48436

1167753IH28472-2
IH48472-21167714IH28438

IH48438
1168273IH28490

IH484901167021IH28443
IH48443

22
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Toe Panels - Torrington/Torrington II
Scalloped, Arched, and Flush

#1 Flush Toe Kicks

Furniture Style Part Number Furniture Style Part Number
1166999IH28470

IH484701167037IH28430
IH48430

1166999IH28470-2
IH48470-21167016IH28434

IH48434
1167751IH484721167716IH28436

IH48436
1167751IH28472-2

IH48472-21167716IH28438
IH48438

1168271IH28490
IH484901167016IH28443

IH48443

23
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Top Panels - Torrington/Torrington II

24
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Top Panels - Torrington/Torrington II
Item

Number Part Number DescriptionNote
Quantity Per

Package Assembly
See Chart Top Panels - Torrington 1 11
IHB007651 Screw, Hex Head (#10 x 5/8") 1 --2 A

A - Screw quantity varies per Top Panel, see Chart below for Assembly quantities. NOTE:
 

Top Panels - Torrington w/ Hardware

Furniture Style Panel Part No. Screw Part No. Screw Qty.
8IHB007651116700628430

48430
8IHB007651116700628434

48434
8IHB007651116770828436

48436
8IHB007651116770828438

48438
12IHB007651116772728443

48443
N/AN/A116829728460

48460

25
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Valances - Torrington/Torrington II

26
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Valances - Torrington/Torrington II
#1 Valances

Valance Type Style Furniture Style Part Number
1168310IH28460

IH48460IHAFLVLFlush
1168279IH28490

IH48490IHAFLVLFlush
1168306IH28460

IH48460IHSCVLScalloped
1168284IH28490

IH48490IHSCVLScalloped
1168304IH28460

IH48460IHARVLArched
1168282IH28490

IH48490IHARVLArched

27
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Accessories - Miscellaneous
THE KEY AND LOCK ID ARE INCLUDED WITH ALL MASTER LOCKS

Accessory Style No. Part No.
1124455

IH28430, IH28470
IH48430, IH48470

IH28470-2, IH48470-2
Master Lock Door Key

(Bright Brass)

1124454

IH28430, IH48430, IH28434,
IH48434, IH28436, IH48436,

IH28438, IH48438,
IH28438, IH48438, IH28470-2,

IH48470-2, IH28472-2, IH48472-2
IH28490, IH48490

Master Lock Top
Drawer Key - Torrington

(Bright Brass)

1124454
IH33030, IH33034, IH33036

IH33038, IH33043 (2)
IH43030, IH43034, IH43036

IH43038, IH43043 (2)

Master Lock Top
Drawer Key - Halifax

(Bright Brass)

1124456IH28472, IH48472,
IH28472-2, IH48472-2

Master Lock Double 
Door Key

(Bright Brass)
1147915

IH28430, IH48430,
IH28470, IH48470

IH28470-2, IH48470-2
Master Lock Door Key

(Brushed Nickel)

1147914

IH28430, IH48430,
IH28434, IH48434,
IH28436, IH48436,
IH28443, IH48443,

IH28470-2, IH48470-2,
IH28472-2, IH48472-2,

IH28490, IH48490

Master Lock Top
Drawer Key - Torrington

(Brushed Nickel)

1147914
IH33030, IH33034, IH33036

IH33038, IH33043 (2)
IH43030, IH43034, IH43036

IH43038, IH43043 (2)

Master Lock Top
Drawer Key - Halifax

(Brushed Nickel)

1147916IH28472, IH48472,
IH28472-2, IH48472-2

Master Lock Double
Door Key

(Brushed Nickel)
A024733IH28430, IH48430

IH28434, IH48434
Hooded Dual
Wheel Caster

A024729IH48430, IH48434
IH48443, IH48470-2

Small Drawer
Liner

A024730IH48436, IH48438
IH48472-2, IH48490

Large Drawer 
Liner

A024732IH48430
IH48434Slide and Glide

IHB011428AllHinge Plate
1121063AllSalice Hinge

IHB004149AllScrew, Philips Pan Head (#8 x 5/8")
IHB011333AllDouble Tack Guide
IHB004330AllBracket, Angle

28
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Accessories - Miscellaneous
THE KEY AND LOCK ID ARE INCLUDED WITH ALL MASTER LOCKS

Accessory Style No. Part No.
IHB007651AllScrew, Slotted Hex Washer Head

(#10 x 5/8")
1149833AllDrawer Glides - Left
1149834AllDrawer Glides - Right
1149819AllCabinet Glides - Left
1149824AllCabinet Glides - Right

THE KEY AND LOCK ID ARE INCLUDED WITH ALL MASTER LOCKS.

29
For Service Parts, call Toll Free, 1-800-668-2337 or go to www.invacare-cc.comForm No. 12-419



Invacare Continuing Care www.invacare-cc.com

One Invacare Way
Elyria, Oh  USA
44035
800-333-6900

Customer/Technical Service
800-668-2337
Service Availability
Monday - Friday

Hours of Availability
8 AM - 6 PM EST

Form No. 12-419

© 2016 Invacare Corporation. All rights
reserved. Republication, duplication or
modification in whole or in part is prohibited
without prior written permission from
Invacare. Trademarks are identified by ™
and ®. All trademarks are owned by or
licensed to Invacare Corporation or its
subsidiaries unless otherwise noted.
(Revised 10/19/2016)


